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ofl &t 146,790,000 0 0 146,790,000
oI24H| 201 24 153,920, 100 0 0 153,920,100
sz A7,130,100 0 0 A7,130,100
ofl &t 29,319,000 0 0 29,319,000
pE= 24 29,207,020 0 0 29,207,020
sz 111,980 0 0 111,980
ofl &t 11,871,940 0 0 11,871,940
IHS X EARS | 2 12,826,500 0 0 12,826,500
s A954,560 0 0 A954,560
ofl &t 14,046,000 0 0 14,046,000
NEEEESE 24 14,452,060 0 0 14,452,060
s2 A406,060 0 0 A406,060
ofl &t 202,026,940 0 0 202,026,940
24| =2y =P, 210,405,680 0 0 210,405,680
=2 A8,378,740 0 0 AB8,378,740
ofl &t 1,440,050 50,000 0 1,490,050
SEESSIi] 22| Z At 1,440,050 164,000 0 1,604,050
s 0 A114,000 0 A114,000
ofl &t 3,259,950 0 0 3,259,950
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2% HAS2= 24t 3,479,850 0 0 3,479,850
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2 0 0 0 0
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ofl At 2,933,000 0 0 2,933,000
SooorEsH A 2 2,933,000 0 0 2,933,000
=2 0 0 0 0
0l At 2,980,000 0 0 2,980,000
SO ASEAR o 2,980,000 0 0 2,980,000
=2 0 0 0 0
0l At 10,763,000 300,000 0 11,063,000
S osE AL S S0E ARBHLA 2 10,763,000 300,000 0 11,063,000
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ofl At 44,940,000 300,000 0 45,240,000
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=2t 0 0 0 0
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Ol &t 697,700 0 0 697,700
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